GIRLS APPENDIX 26 - 1978 KEX;VARIABLE DERIVATICNS

DCL A(104) FLGAT DEC(o6),
CKIT) FLOAT DEC(6),
WNW(T) FLOAT DECI6),
REASON(7) FLOAT DEClo),
ALT(T) FLOAT DEC(6),
MON(7) FLOAT UEC(6),
DAY (7) FLOAT DECI6),
YEAR(7)  FLOAT DEC(6),
SWNI(T) FLOAT DECL6),

SUMPI(T) FLOAT DEC(6),

STARM(7) FLOAT DECI(6),

STARD(7) FLOAT DEC(6),

STARY(7) FLOAT DEC(6),

STOPM{T) FLOAT DEC(o0), -

STUPD(T7) FLOAT DEC(6), -
STGPY(7) FLOAT DEC(6)

WEEKI(T) FLOAT DEC(6),

SCK(T) FLOAT DEC(6)
LA FLOAT DEC(5)
LD FLOAT DECI(8),
LY FLOAT DEC(61),
WL FLOAT DECLO),
SM FLOAT DEC(6),
SD FLOAT DEC(6),
SY FLOAT DEC(6),
Firi FLOAT DEC(o);

DUMP=R{59T74.); IF DUMP=2 THEN DUMP=2;
DOLF=R(5978.); IFf DOLF=3 THEN DCLF=2;
A = NAj
wWNwySTOPD = NAj;
B,CyDvEpF,G,P'R151T1V)Wtz
WBIDsLM,LD,LYswl s SMsS50,SY
WORK 9 nUMP g wGLF g NyigH = O;
LyFW = 13
IF R(5870.) == NA & R{5871.) =»= NA & R{7555.) ~= NA
THEN T = FUN(R{5870.)sR{5871.),R{7555.));

NA3S
NA

LX)

H =13
IF R{70D03.) ~= NA & R{7004.) ~= NA & R{7888.20) == NA
THEN S = FUN(R(7003.),R{7004.),R(7888.20));
ELSE IF R{5457.)~=NA & R{5468.)~=NA
THEN S = FUNIR(5467.)+R{5468.),77);
IF S»= NA &€ T ~= NA THEN DOG;
WBID =T - S ¢ 1; DO K = S TC T3 A(K) = 05 END3 ENOD;
ELSE GU T3 THEEND;

H = .53
IF R(7012.) = 1 | R{7012.) = 2
THEN DO;

IF R{5999.) ~= NA THEN DUO; SM=R(5997.); SD=R(5998.); SY=R[(5999.); END;
ELSE IF R{5990.) == 0 & KR{5990.) ~»= NA THEN DU;
SM=R{5994.); SD=R{5995.); SY=R(5996.); END;
ELSE IF R{5939.) -~= NA THEN UUO3 -
SM=R(5987.); SU=R(5988.); SY=R(5989.); EMND;;
IF SY ~= WA & SD = NA & Sid == NA & R{(6113.) = 5Y & R{611ll.) = SM -
& R16112.) = NA THEN 0O0;
SD=1; STUPD(1)=30; EiD:
IF SY > 0 THEN DO;
IF SY < 717 THEN P = S;
ELSE IF SM > O THEN P = FUN(SM,SD,sSY);
e i __IF P >0 & T D> P THEN DG K = P 0 T;
A{K)=1; END; o ) o
-~ IF R16083.) ~= 0 THEN DO;



o

o

I€ R(6084.) 6= NA THEN DO;
B = 13 -
IF P ~= NA THEN V = FLGORI{{T = P - R(65084.)
+ 1) /2 + P);
ELSE V = T = R(6084.);
IF P == NA E T =P + 1 < R(6084.)
THEN GO TO THEEND:
DO K = V TO T WHILE(RI6084.) >= B);
IF R({6085.) > 0 THEN DO;.
IF R{6085.) = 5 THEN A(K) = 4;
: ELSE A(K)=5; END; ELSE DO;
WUMP , wOLF=NA; A(K)=2; END; B=B + 1; END; END; :
ELSE DO; NWsWORK = NA; IF P>0 & T>= P THEN DC K=P TO T; A(K)=3: END;
' If K(6085.) > 0 THEN DU;
IF R{6085.)=5; THEN WUMP=NA; ELSE wGLF=NA; END;
ELSE WULFswUMP=NA; END; EMO; ENU3 -
IF R(5935.) == NA
THEN DO;
IF R{6076.) < 77 THEN D = S;
ELSE IF R(6074.) == NA THEN D = FUN(R{6074.)sR{6075.}
4 R{60T76.1)) 3
IFD>O0 &€T >>D THEN DO K = D TO T3
IF A(K) = O THEN A(K) = 13 END; END; END; ,
ELSE IF R(7012.) >= 3 & R{7012.) <= 8. THEN DO; IF DUMP = 1 THEN DO;
LM=R{5971.); LD=R{5972.); LY=R(5973.); END;
ELSE IF DOLF = 1 THEN DOU;
LM=R(5975.); LD=R(5976.); LY=R{5977.); END;
IF LM > 0 & LY >0 THEN C = FUN(LM,LD,LY);
IF C = NA & R{6088.) > 0 THEN C = T — R(6088.) + 13
If R{6J88.) ~= NA & R{6088.) = R(6089.) & C == NA & C -= T - R(5088.
THEN WL = T = C + 13 :
ELSE WL = R(6089.);
IF C ~= NA THEN DO;
IF WL > O & R{6088.) ~= NA & ABSI(T = C - R{6088.))> 2
&€ WL ~= T = C +1  THEN WL = NA;
IF C < S THEN C = S;
W =1
IF T>= C THEN DU K = C TO T;
IF WL >= O THEN DO;
IF WL >= W THEN A(K) = 43

ELSE A(K) 53
W=un+ 13
END;
ELSE DO

WUMP,WOLF = NA;
A(K)=2; END; END; END;
IF DUMP == 1 & DOLF ~= 1 THEN D0O; IF R{6093.)=NA THEN DO;
RORK s WOLF oNW = NAj;
IF R(6094.) == 0 & R({6095.) = NA THEN WUMP=NAj;
ELSE IF R(6095.) > 0
THEN DO K = T TO S BY -1;
IF L <= R(6095.) THEN A(K) = 4&;
ELSE A(K)=35 L = L + 1; END; END;
ELSE DO K=S TO T; IF FA4 <={6330) THEN DO; A(K)=1; END; ELSE DO;
IF R{(6094.)=0 R{6795.) > 0 THEN DU; IF L <= K(6095.) THEN A(K)=4
ELSE A(K)=5; L = L + 13 EwD; ELSE Du; wUMP L WOLF=NAS A(K)=2;
END; END; END; END; END;
J =13
DO I = 6336 TU 6444 3Y 3¢;
CKUJ)=X (I1+19)5 wNM(J)=X (I1+203); REASON(J)=X (I+21);
ALTUJ)=X (1+22); MON(J)I=X (I+28); DAY(J)=X (I+29);
YEAR(J) = X (I + 33); SwN(J) = X (I + 31); SUMPLJ) = X (I + 32);



~ .

STARM{J) = X {I # 9); STARD(J) = X (I + 10); STARY{J) = X {1 + 11}
STOPM{J) = X (I + 12); IF STUPD(J) = NA THEN STOPDIJ) = X (I + 13);
STOPY{(J) = X (I + 14); WEEK(J) = 1; SCK{J) = X {1 + 27);

J =Jd + 1; END;

DU J=1 TGO 43 E+F,G=NA3; IF STUP{J)=-1 THEN DO;
STOP(J)=R(5870.); STOUPDIJI=R{5871.); STUP(J)=K{T555.); EnND;
IF STARY(J) == NA | STOPY(J) ~= NA THEN DO;
IF£ STARY(Y)>0 THEN LU; IF STARY1J)<KT7 THEN E=S;
ELSE IF STARM{J)DO0 THEN E=FUNI(STARM{J)»STARD(J) +STARY{J)); END;
IF STOPMIJ) > O & STOPY(J) > O THEN F =
FUM(STOPM(J),STUPD(J),STOPY{J));
IF STOPY(J) == NA & STOPM(J) == NA & STOPD(J) = NA
& SCK(J) = 0 & STOPY(J) = STARY(J + 1) & STAR:A(J) =
STOPM(J + 1) =1 & STARD(J + 1) = NA THEN DG;
E.= FUN(STARMIJ) +1,STARY1J));
STUPU(J + 1) = 30; END; -
IF E> O & F > E & WORK == NA
THEN DO K = E TG F3;
IF A(K) = 0 | A(K) = 3
THEN A(K)=1: END3; ELSE DO; IF STARY{J) > O THEN STARM{J) > O
THEN E=FUN(STARM{J) sSTARD(J) 4STARY{J));HEN E = FUN(STARM(J),
ELSE E=FUN{1,1,STARY(J)); ELSE E=S; IF STULPY(J)>O
THEN IF STOP(J)>0 THEN F=FUN(STOPM({J), STCPD{(J),STCPY(J));
ELSE F=FUN=(12,31,STOPY{J)); ELSE F=T; If F>T THEN F=T;
IF E>DO0 & F>=E THEN DO K= E TO F; IF A(K)=0 THEN A(K)=3; END; END
IF CK{J) ==0 & ALT{J) == 1 THEN DG; IF wWNw{J)=NA THEN DU;
IF REASON(J) >0 THEN D3;
IF REASONLJ)=5 THEN WUMP=NA3; ELSE wWOLF=NA; END;
ELSE WUMP,wOLF=NA; #wORK,Nw=NA; IF E>0 & F>=E THEN DO K=E TU F;
A{K)=3; END; END; ELSE IF WNw(J)>0 & EDO & F>=E THEN DO;
ELSE IF wNW(J)>0 & E>O0 & F>=E THEN DO;
I=FLOURI(F-E—sNw(J)+1)/2+4E); IF F-E+1<wNW(J) THEN GU TO THEEND;:
ELSE DO K=Z TO F WHILE (WNW(J)>= WEEK(J));
IF KEASON(J)>O THEW DO;IF REASUN(J)=5 THEN DO;
IF WUMP ~=NA THEN A(K)=4; ELSE A{K)=2; END; ELSE DO;
WOLFwUMP=NA; AIK)=2; END; WEEK(J)=WEEK(J)+1; END; END; END; END;
IF SCK({J) = 1 | (J =1 & R{6O87.) = 1) | YEAR(J) ~= NA
THEN DO; '
IF MGN(J) = R{7003.) & YEAR(J) = R{7888.20) & DAY(J) =
THEN DAY{(J) = 1;
IF YEAR(J) == NA THEN DOC3
IF YEAR(J) < 77 THEN G = S;
ELSE IF MON(J) > O THEN G = FUN(MON{J)DAY(J) s
YEAR{J)); END; U=1;
IF J =1 & k(6087.) = 1 THEN E = P;
IF E == NA & SaN(J) ~= NA & G = NA THEN G = E - SwN{J)
IF SKN(J) = SUMP(J) & E ~= NA & G ~= NA & SUMP(J) == A
& SUMP{J) == E - G THEN SUMP(J) = E - G;
IF G >0 &€ E > G THEN DU;
IF SWiH(J) > 0 & ABSIE = G = SWN(J)) > 1
&€ SUMP(J) ~= E - G & SurMP(J) > 0
THEN SUMP(J) = NA;
DG K = G TO E =13
IF SUAP(J)>=d) THEN UG; IF SUMP(J)>=u THEN D0;
IF wUAP == MNA THEN A(K)=4; ELSE A(K)=2; END; £LSE DOG;
IF wOLF ~= NA THEN A(K)=5; ELSE A(K)=2; END; EMD; ELSE DC;
WUMP , wOLF=NA; A(K)=2; END; U=U+l; ENu; END; END;
IF S >0 &7 >SS THEN DU K = S TO T3
IF A(K) = 0 & A{K =1) == Q0 & A(K +1) ~= 0
e e _.___ THEN AtK) 1;
IF A{K) = 1 & wURK == NA THEN wORK = WORK + 13
IF AfK) = 4 & WUMP =~= A THEN WUMP WUMP + 1;



[P

IF A{K)=0

IF (A(K)=2 | AlK)=4 & WUMP=NA |

IF R{1.)=836 |
WBID=NA;
GO TO AROUND;

THEEND:

/IF ALK) = 5 & WULF == NA THEN WOLF = W~OLF + 1;

| A(K)=3 THEN DU; WORKyWUIP1OLFyNa=NA; END;

ALK)=5 & WOLF=NA) & Ne~=NA THEN NW=NW+1l;
END S

K{l.)=2989 | R{1.)=3807 THEN DG;

AORK=i1A3 WUMP=NAjS wOLF=NA;  ENUD;

-— -

NDRKQ.@UMP,\‘JOLF)NW = NAj;

FUN: PROC(M40,1)3
DCL {(M,0,7}) FLOAT DEC{6);

N =

IF N < S

IF 0O = NA THEN O = 153
{365 /7) + (M =-1) * (13 /3) + (0 —=4) / (365 /52)}+ H)

FLOOR({Q —-77) =
THEN N = S;RETURNIND); END FUN3




IF R{7012.)=NA THEN GO TO DAEND; R .

/* ASSIGNMENT FOR KEY TOTAL FAMILY INCOME GIRLS 1978 #*/
ESR=R{7012.); = IWSR=R(6712.); IWSS=R(6721.);
NIBR=R(6714.)3; NIBOFM=R{6723.); QNIBCFM=R(6722.); QHIB=R[6698.);
NIFTF=R{6743.)3 QTFIF=R(6742.)3 OHIF=R(6694.); NIRETF=R(6745.)3
QAFIRE=R(6744.); QHIRE=R{6701.); NITFIID=R(6747.);
QTFIID=R(6746.)3 QSAV=R{6686.); QSA=R(6688.); QBSMF=R{6690.);
QPLM=R([6692.); QIUECR=RI[6715.); QIVUECOFM=R(6724.); QISUBR=RI{6718.)3 -
- QISUBOFM=R{6727.); QIVCAFM=R(6730.); IVCR=R{56731. )35 IVCOFM=R{6732.);:
QIWCAFM=R(6733.); 1IWCR=R(6734.); IWCOFM=R(6735.)3 GQISSAFM=R(6736.);
ISSR=R{6737.): XSSDFM=R(6738.): QIODAFM=R(6739.); I0DR=R{6740.);
IODOFM=R(6741.) 3
QGFS-R(6748 ). NHGFS R!6749.). MIGFS=R(6750.); CGFS=R16751.)3

- QIAP=R{6752.);

QIAQI=R(6760.); IADI=R{6761.)3

QAFIB=R{6713.);

'QLSFP R{6755.);

QICSP=R(6758.);
ICSP=R(675%.); Co

ISUBOFM=NA;

IUECR, IUECOFM=NA} ISUBR=NA; TAPR=NA; LSFPR=NAj;
IF R{6716.)>=1 & RI6717.)>=1 THEN IUECR =R16T16.) * RI6T17.);
IF RU6725.)>:1 & R(6725.)>=1 THEN IUECCFM=R[6725.) & R(6726.);
IF R(5719.)>=1 & R{6720.1>=1 THEN ISUBR =R{6719.) * R{6720.);
IF R(6728.)>=1 & R(6729.)>=1 THEN ISUBOFM=R{6728.) *= R{6729.);
IF RU6753.)>=1 & RI6754.)>=1 THEN IAPR =R{6753.) * RI(6754.);
- IF R{6756.1>=1 & R(67T57.)>=1 THEN LSFPR =R{6756.) * R(6757.);3
IF TWSR = =1 THEN IWSR = NAj;

IF IWSS = =1 THEN IWSS = NA3

IF NIBR = —1 THEN NIBR = NA3

IF NIBOFM = -1 THEN NIBOFM = NA; .

IF NIFTF = —1 THEN NIFTF = N&;

IF NIRETF = =1 THEN NIRETF = NA;

IF NITFIID = —1 THEN NITFIID = NA;
- IF TUECR = =1 THEN IUECR = NAj;

IF IUECOFM = —1 THEN IUECOFM = NA;

IF ISUBR = =1 THEN ISUBR = NAj;

IF ISUBOFM = —1 THEN ISUBGFM = NA;

IF IVCR = =1 THEN IVCR = NA3

IF IVCOFM = -1 THEN IVCOFM = NA3

IF IWCR = =1 THEN IWCR = NAj;

IF IWCOFM = -1 THEN IWCUFM = NA3

IF ISSR = =1 THEN ISSR = NA3

IF ISSOFM = -1 THEN ISSOFM = NAj;

IF I0ODR = -1 THEN IODR = NA3

IF I0ODOFM = —1 THEN I[ODGFM = NA;

IF MIGFS = =1 THEN HIGFS = NAS

IF CGFS = =1 THEN CGFS = NAj3

[F QI AP = —1 THEN QIAP = NAj;

IF LSFPR = =1 THEN LSFPR = NA;

IF TAPR = =1 THEN IAPR = NA;

IF T[AQI = —1 THEN TAOI = NAj3

IF QICSP = =1 THEN QICSP = NAj;

IF ICsSP = =1 THEN ICSP = NAj3

IF QAFIB = —1 THEN QAFIB = NA;

DCL (A1,B,C,D,E, F,G'H) BITI1)S - - - —
Al=183;

B+C,DsE,F=08;
AGE=NA;
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SPOU=03 INC=03
DO I=6731 TO 6891 BY 10;

IF X {(I)=1 THEN Al1=0R;:

IF X (I}=1 THEN B=1B;

IF X (1)=NA THEN C=1B;

IF X (I+1)-=NA & X {I+3)==NA THEN AGE=X 11+3)*100+x {1+1)3

IF AGE-=NA & AGE<6501 THEN D=183

ELSE DO;

IF X {I+1)=NA & X {I+3)-=NA THEN AGE=X (1+373

IF AGE-=NA & AGE<65 THEN D=1B:

END;

IF X (1+7)=0 & X [I}=1 THEN E=183:

IF X (147)=52 & X (I)=1 THEN F=1B3 .=urmmem: —meee .

IF X (I)}=1 THEN SPOU=1; EWND; - _

IFB | C | D THEN NG " ”
IF IWSR=NA & WORK=0 THEN IWSR=03:

IF IWSR=NA  THEN GO TOD DAEND3: o -
ELSE INC=INC+IWSR;

IF INSS=NA & (AL ] (8 & E)} THEN I%5S=0;

IF IWSS=MA THEN GO TO DAEND;

" ELSE INC=INC+IWSS3

IF INIBP=NA & l{QAFIB=0 | QHIB=0 |} HDRK-O)]) ] NIBR=1 THEN NIBR=0;
IF NIBR=NA THEN GO TO DAEND;
ELSE INC=INC+NIBR: -

- IF {NIBCFM=NA & {SPOU=0 | QNIBCFM 0 ] QHIB=0)) ] N?BOFM=1 ! {B & E)

THEN NIBOFM=(
IF NIRCFM=NA THEN GO TO DAEND;

ELSE INC=INC+MIBOFM;

IF (NIFTF=NA & {QTFIF=0 | QHIF=0)} | NIFTF=1 THEN NIFTF= 03

IF NIFTF=NA THEM GO TD DAENMD;

ELSE INC=INC+NIFTF; . .

IF {NIRETF=NA & {QAFIRE=0 | {QHIF=0 & QHIB=0 & QHIRE=0)})) H
NIRETF=1 THEN NIRETF=03;

IF NIRETF=NA THEN GO TO DAEND;

ELSE INC=INC+NIRETF; ’ . -

IF NITFIID=MA & (QTFIID=0 | {QSAV=0 & QSA=0 & QBSMF=0 & QPLM=0D1})
THEN NITFIID=03 )

" IF NITFIID=NA THEN GO TO DAEND;

ELSE INC=INC+NITFIID; ' -

IF TUECR=NA & {QIUECR=0 | {WORK~=NA & WORK=WBID)) THEN IUECR=03; - -
IF IUECR=NA THEN GO TO DAEND;

ELSE INC=INC+IUECR;

IF TUECDFM=NA & [QIUECOFM=0 | SPOU=0 } (B & F}} THEN IUECDFM-O,

{F IUECDFM=NA THEN GO TD _DAEND;

ELSE INC=INC+IUECOFM; '

IF ISUBR=NA & [QISUBR=0 | I[UECR=0 ] {WCORK-~=NA & WORK=WBID)) ° THEN 1SUBR=
IF I5UBR=NA THEN GO TO DAEND; :

ELSE INC=INC+ISUBR;

IF ISUBOFM=NA & (QISUBOFM=0 | TUECOFM=0 | SPOU=0 | (8 & F}) THEN ISUBOEH
IF ISUBOFM=NA THEN GO TO DAEND;

ELSE INC=INC+ISUBOFM;

IF QIVCAFM=0 THEN DO;

IF IVCR=NA THEN IVCR=03;

[F IVCOFM=NA THEN IVCOFH=0;

END; e

IF QIWCAFM=0 THEN DO;

IF INCR=NA THEN IWCR=0;

IF IWCOFM=NA THEN TWCOFM=0;

END; e — O U C e e e .-
IF QISSAFM=0 THEN DO

IF ISSR=NA THEN ISSR=03 .

(F TSSOFM=nA THEN TSSOFN=Q;
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. IF ISSR >0

END3 :

IF QIDDAFN=0 THEN DO:
IF IODR=NA THEN I0DR=0;

IF IODOFM=NA THEN IODOFM=03 =

END; . ", / ~
IF SPOU=0 THEN DD; )
IF IVCOFM=NA THEN IVEGOFM=03: ) e

IF IWCOFM=NA THEN IWCOFM=0; .. . o
. IF ISSOFM=NA THEN [SSOFM=0;

~ IF 1DDOFM=NA .THEN I0ODOFM=0:

. END; . o
IF IVCR >0 IVCOFM=NA THEN IVCOFM=0;
IF IVCOFM>0 IVCR '=NA THEN IVCR _ =0§ome . . _.
"IF IWCR >0 [WCOFM=NA THEN IWCOFM=0; . .

IF IWCOFM>O0 INCR =NA THEN IWCR =03 :
ISSOFM=NA THEN ISSOFM=03: -
ISSR =NA THEN ISSR =03
IF I0DR >0 [0ODOFM=NA THEN IODQFM=0; .
IF IDDOFM>Q I0DR =NA THEN IDDR =03 .
IF IVCR=NA | IVCOFM=NA ] IWCR=NA I IWCOFM=NA ] ISSR=NA | ISSODFM=NA I
. IDDR=NA- | I0DOFM=NA THEN GO TO DAEND; ,
- ELSE INC=INC+IVCR+IVCUFH+IHCR+INCDFM+ISSR+ISSGFM+IDDR+IDDDFH;
. FOOD=NA3 . - _ .
IF QGFS=0 & NMGFS=NA £ MIGFS=NA & CEGFS=NA THEN FGCD=03
IF NMGFS>0 & MIGFS>0 & CGFS>=0 THEN FOOD=NMGF'S* (MIGFS—CGFS) 3
IF FDOD=NA THEN GO TO DAEND; '
ELSE 'INC=INC+FOQOD; -
IF TAPR=NA & QIAP=0 THEN IAPR=0;
IF TAPR=NA THEN GO TO DAEND;:®
ELSE INC=INC+IAPR; '
IF ICSP=NA & QICSP=0 THEN ICSP=0;
. IF ICSP=NA THEN GO TD DAEND:
ELSE INC=INC+ICSP; .

IF ISSOFM>D

(o IS AN A T At~ T o T e ]

. v IF LSFPR=NA & QLSFP=0 THEN LS FPR=0;
- IF LSFPR=NA THEN GO TO DAEND:

" ELSE INC=INC+LSFPR:

" TF IADI=NA & QIAQI=0 THEN TAOI=0;

"IF IAOI=NA THEN GO TO DAEND;:

ELSE INC=INC+IAQI:

END;

GO TD FINITO:

DAEND 2 INC=NA:

-FINITO:

END; ' .
R{7032.) = WBID; R{7035.) =WCLF; R{7034.).= HUMPS
R{7033.)=WORK; R{TO041.)=INC3 R{6764.11)=RATID7S8;
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